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FOI-R--3402--SE

Test 16
1g/2cm 2x carriage in tunnel
150 0,06
V3
Pressure
100 Impulse || 0,04
50 0,02
0 0
-50 -0,02
-0,005 0 0,005 0,01 0,015 0,02
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Test 16
1g/2cm 2x carriage in tunnel
100 0,1
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Pressure
Impulse
0,05
0
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Test 16
1g/2cm 2x carriage in tunnel
75 0,06
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Pressure
50 Impulse 0,04
25 0,02
0 0
-25 -0,02
0 0,005 0,01 0,015 0,02 0,025
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Test 16
1g/2cm 2x carriage in tunnel
10 0,01
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Pressure
5 Impulse 0,005
|
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Test 16
1g/2cm 2x carriage in tunnel
10 0,01
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Pressure
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| l_' [ !
0 0
-5 -0,005
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Test 16
1g/2cm 2x carriage in tunnel
10 0,01
T24
Pressure
5 Impulse 0,005
L
0 T 0
-5 -0,005
0 0,005 0,01 0,015 0,02 0,025
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